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33691176 5 _» - o g 130 10,400 80
33691176 J/u ) LIy 175,000 50
33621160 |Udhunbwwpnl o wy/u 133,000 350
33621160 Uupunguwann Gl Lg 24,000 1
33671114 Eridhihl 5 (@ WU 94,110 3,000
3367111 L/5undhihl 150uq }C_‘_ n 3,720 1,200
336213 Uhan 200uq |Gz - 71.2 42,720 600
33621390 g 3u) Ci 3| 256.04 12,802 50
33661142 Udnuphwyuhihih hhypnpinphn 25uq (T2 h I 9 19,800 2,200
Ulnuownph ughpun (nsnyp 10000 |T2 _ wpk 1112.5 16,688 15
l&ﬁ{:}:}qu]ﬂl 10uq G2 ij. 12 12,000 1,000
33511357 |Uulinpphlwppnt SU) G2 dw i' 49.96 499,600 10,000
wapnwht (winpnyhth unydwn)idy |82 60 1,200 20
23591176 Ugbwnwgnpuuhny  (nhwlwpp) G2 n/h 79.74 14,353 180
33681176 U88 nusynn hwplip 200Uq G n/h 74 407,000 5,500
33601176 U838 nisynn hwptip 200Uq G n/h 74 1,000
23591176 Pwuphnudh unpdwn 100 Gz upy. 245 2,450 10
33621440 Rhunuqn) 10Uq G2 wdy. 22.48 26,976 1,200
REUghywbUhgh b bunphaud
33551114 10000000 (4 upy, 75 600,000 8,000
335381127 REugh) piiqnunn - 1204 G2 2ohly 479 2,395 5
33581178 Fhuwljnihy 10uq (674 unuhl 48.49 77,584 1,600
33521176 Fhupny (% n/h 32 32,000 1,000
33521330 Lhuipngihghipht 0,5Uq [e?4 n/h 7.48 299 40
33371136 Epuybjunputin Cz 2ohly 360 72,000 200
53551145 TEpuwndbpugnt 4dg/uy [e74 n/h 47 188,000 4,000




l@r'_':;'u.nqm [o74 wdy. 31.37 3437 100
Qninqu (24 thwpkp 180 360,000 2,000
|SpunLynqu (o4 thupkp 180 400
| Yhwabywu Sug T n/h 7.35 45,570 6,200
thpmqnh 10uq 2 Uy [o24 wuy. 79.8 79,800 1,000
T
|"thqopuhli 0,25Uq T2 n/h 5.1 5,100 1,000
l’}h?rw‘nhhhq[nudhh 10ug/uy T2 wuuy. 18.63 149,040 8,000
Youjwihl 200Uq 5u G2 wuuy. 829.77 4,149 5
Apnnwyliphl 40Ug 20} (¢4 unfuy. 53 84,800 1,600
“Yopuhghlyhls 100ug (e74 n/y 10.01 3,003 300
Eplwp (I)-hhnpopuhnh
phpunpuibiught hwdwpp 100uq 2uy |TZ wy. ST 199,850 350
tuwwuphy 10ug [e24 n/h 6.5 13,000 2,000
by hubdpht 1,82U0g/d) [e24 wuy. 132 6,600 50
tubklighw] $nudnihyhnubp 250uq 5uy [TZ wy. 632 948,000 1,500
o2 wiy. 632 700
|
22 [n/w 81 648,000 8,000
T
(od | 139 417,000 3,000
| Fhwipt 2. o 129] 1,032,000 8,000
|
33611370 | Phunipt 24 &: s 129 4,000
33611370 |@hwuhlb pinphn SOUg/U o wri 17.56| 70,240 4,000
33691176 | @hnybbnw 500g o) 1527.51; 54,825 30
24311570 |Bnpws ontn 35301 o AL 997.04| 199,408 200
33631290 |Ppnugpndtl 200ug co b 5.25 26,250 5,000
‘ !
33621370 |Pqnunpphnh nhthunpwn 20Ug & 5 22 22,000 1,000
33611310 |FLuntiht dwngne 1000 U/ lez s 3 6600 66,000 10
I [
\;91‘_97 |Linubupnvwghl 25Ug ok 25:92 . 15,5652 600
33661116 {Lhanlw)pl S0ug/q (674 punip “ 660 4,620 7
|
33661116 Lhnnljwht 20dg/u) 2 [wiw l 21.85 30,590 1,400
33691182 ‘.Lj’..j:l;“l_'j‘.t: 100ug/u} (o)A “,w i 82.86 2,486 30
\ [
33661137 |Lnpugbywy 1ug c2 |n/h 1 11.5 11,500 1,000
[ o T !
|33661137 |Lnpugbwwd 2dq (674 n/h | 13.5 20,250 1,500
I I T
132611430 Yuwhnuih pinphn 409/} Gl thuipkp | 410 16,400 40
33611430 Yuwhnudh pinphn 500 G2 thnoh | 1000 1,000 1
Yughnudp uppntwn, 1
123691176 funikughplipng (¢4 n/h l 38.5 57,750 1,500
| [
133671135 Yughnuth pnphyy 100Ug/dy [e24 wyy. 3187 10,980 350
33621510 Yuyinnuphy 25Uq (92 n/h 4.08 4,080 1,000
=
|
!
Yuwwnyguininh ngipnipd 200dg/d) (o74 22hY 158.82 4,765 30
Hu]ppmu'mqhulllh 200uq G2 n/h 10.5 47,250 4,500
Yuppnghuwnkht 250ug/5u; [e74 22hYy 1212 36,360 30
Ykuinliwy 100uUg/uy T2 wuy. 167 1,002,000 6,000
Ghkinnlwy 100ug/uy (24 wuy. 167 5,000
\ A
| Ubwnlwy  1dg G n/h 59.25 71,100 1,200
lYwpybinhing G2 n/h l 27.5 27,500 1,000|
‘
|4inquyhl 100Ug [6PA n/h [ 38 38,000 1,000
‘ i
lu ntugbyuid 2iq o2 n/h i 275 22,000 800
T T




33661139 2wnubphnny Sdgq (¢74 n/h 1445 36,800 3,200
33661139 2unyph| Sug/up [ot wuy. 95.75 52,663 550
33141166 Zbwwphu 5000U U/ (074 wly. 1032 72,240 70
Pwjuwlbiwght uppwdwsnil pun
l’2’7“1330 Ypoliliulm 30Ug/40Ug Z h/punip 335 3,350 10|
\33691219 Uwqltqhnud 140Ug .C; n/h 32 12,800 400
[ Uwqlkqhnid wugjupuwn '
33691218 400uqg/10u| |CZ wuy. 373.16 186,580 500
33691145 Uwqubighnulh unudun 250ug/uy l\C; \ 28.23 3,388 120
33691176 Uwup-Sk (ndniyp 10% Gz \7 700 56,000 80
| |
33691176 dhluuny [ 82.86 66,288 800
33661119 Uknwthqny 500ug/uy JC; wdy \[ 28.2 239,700 8,500
33661119 Utwnwdhgn 500ug i:n “: h ¥ 21 16,800 800
33661119 Uyuquunnl Su e wuy ‘ 141.89 42,567 300
33691176 Ubnn|nypwihn 5Ug 2u} T wiy 52.45 62,940 1,200
33691176 Ukwnnnupnugni 250ug G n/h 5.18 2,590 500
33691176 Ukwupnlh C [l hwphp 1801' 54,000 300
33661135 Uhnuwgku 154g/3u T hyw 1211‘ 24,220 20
33631260 8nn 1600y} e =h 38-19:; 11,547 3
33691144 ‘Lwnphnudh phnunipuin 300ug/uyp G2 i 43.67 39,303 900
33691136 Lwuphnuwh pinphn 0,9% Suq/uy |T2 thwekp 174 313,200 1,800
33691136 ‘Lunphnudh pinphn 0,9% 500U (62 huphp 180 360,000 2,000
33691136 ‘Lwinppnuih pinphn 0,9% 500U |\‘,; wREp | 180 1,000
}
33691129 (thughp |nidnyp 500U} \‘,; thwpk % 180 ‘ 360,000 2,000
33691129 hugtp (nwonyp 500U} CZ |[thwpkp ~ 180 500
Lwuinphnuth opuhpnunhpuin 200uq E
33691176 10u} CL .luxu".u‘. 330 13,200 40
33661147 Tpnqbphl 0,05% 1| (@74 lmu‘q 31.07 1,554 50
33691176 |‘4nr.1)';1mﬂ]111 250uq 2u| (24 wuyy. 118 82,600 700
I,J:Eummmhh 500000U L CZ n/h 12.4 248,000 20,000
]?,\/nm pnglhghipht Sug/uy T2 wuy. 1228.08 6,140 5
|.‘bmpu1 nnuhl G n/h 2:21 221 100
Unpnipulbinpl T wly. 38 38,000 1,000
‘ Ukqhu dnpunk [e24 n/h 30.58 73,392 2,400
|23621540 MNwuwwiphup hhnpnpinphy (74 wly. 31.45 25,160 800
Nuwpugknwing 500Uq [e74 n/h 2.87 22,960 8,000
33691156 Ntphhnpn) 33% 1000ug CL anh 659 59,310 90
TMhuwkynipnupnuwh ppnupn 4dg [e24 upy. 766.08 57,456 75
33601186 Mhpwgbnwd 200Udg/uy [o24 wy. 37.64 56,460 1,500
235211330 "lep}:nogu[mh hphnpnpinphyy S0dg/d (G2 wuyy. 14.98 89,880 ExC:C!‘,
22881227 l}::'.fnjtq G thwplp 680 6,800 A:}}
22222232 Nnuhnnt nn 75ug/d] (64 2hy 600 300
53123 Nndhnni-ing 100Ug/u)] G 22kl | 576 800
Lot Ankrbhcninl Sug lc; irl/h 5.92 6,000
= UnbunhlSug/250U \C; | 498.4 __300|

wuy.
|




33691200 |Ukl B 70dgq (634 n/h 6.9 103,500 15,000
33691176 wpuh} 22,5ug ci n/h 13.98 83,880 6,000
33851131 Unudwubpopuwign (o n/h 8.06 241,800 30,000
335671115 B G wly. 50.18 200,720 4,000
33621176 [ops wy. 380 30,400 80
33591176 CL n/h 40 72,000 1,800
335621730 ;‘-{':jmqu'\.'m 2,5uq 2uy [e24 wyy. 700 17,500 25
33621730 Jdhpwuyjwih) 80ug [e74 n/h 22.9 2,748 120

Jhwnuihl A, Yhunwdhu D3, Yhuwdhu

E, Yhtnundhli €, Jhunwdhli B,

Uhwwuht B2, Yhwnwidhl B,

Uhynwnhtwdhn, hinundht 812,

&l wighnuih
wutthli K1,
h dnudwn),
33611341 C n/h | 60.99 204,926 3,360
33691226 Spuiw 2u C2 Uy : 114 19,380 170
33691175 Uhnhy 2uq i 6 24,000 4,000
33691176 Sphubybphnht 20Uq 1) c 13 780 11,700 15
33691176 Sphubwnwghnhli 35Uq G2 h 65 39,000 600
33691194 Sphdnunypught Sidg ol 5.5 29,040 5,280
33651116 8kdwqniht 1000ug Tz 1 141 987,000 7,000
33651116 8tduqniht 1000Uq C2 h 141 3,000
33651118 Bthidunphwpunli 1000dq G2 200 800,000 4,000
33621240 Bhunynpwwdht 0,5uq 1) (o34 ‘ 1 16.3 19,560 1,200
33651134 Shuypndopuwighli 500Uq (74 n/h 36.45 18,225 500
33691156 Lwthnip G a»h 289.25| 86,775 300
33651135 Lnpudhtlpling 500q c2 n/h 36? 13,000 500
33651135 Linpuddhling  40q [o74 puntp :EC}Y 20,800 80
33691176 Lnpnughpudht 20Uq 1y G2 wuiy :78.9:; 125514 450
33691176 Linpnyhpwidhl 25dqg [o74 n/h 11 ZA 82,420 2,000
33661140 Lnpypnidwght 25Uq CZ n/h Z;é% 29,520 1,200
33661140 L npypndwght 24} G wdw *C:j‘i\ 10,000 10|
33611100 Oubupuqn) 20uUq (o4 n/w 1 10.67 93,896 E,SOC‘
33611100 Oubkupuiqn| 20Uq G2 n/y 1 10.67 1,200
33611100 Sudninhnhlt 20ug [e24 n/h ; 14.11 14,110 1 CZC}
1

33611100 Dwunnhnht 20Ug & upy. 875| 70,000 20|

dhhwghyud g G2 n/h 10 3,00! ECC‘1

Stunrwunrhuiwt 100da T n/h 1319 6 298 4801




33651150 Unnhubu-Tthyn G2 wuy. 555.09 5,551 10
Dnipugnihnnll 50Ug [oRd n/h 8.2 3,200 1,000
dnipughihl 200 (64 thnoh 3700 3,700 1
33621590 ‘S:mez:if.n‘;:iq. 22Uy (e¥4 wyyy. 26.7 80,100 3,000
Snipnubkihny 40ug G2 n/h 3 4,500 1,500
Cunwukbp ntnopuip b
%u{mm@mummh]mphp 15,999,480
Lhuhwlwl bymplp
|24221300 Ugnip knght puwnn Dhodwlinyulnt (¢4 hwip 8000 64,000 8
24221300 Uwy- Gpyncifun ukipy 74 thwp 8000 80,000 10
33791300 Unwplujuljul wywlh NSO T2 wntih 12 6,000 500
33191310 Owithhs grub wiyuiljw 100U} [e74 huwn 980 1,960 2
33191310 Qwihhy pwidly 500U} (674 hwwn 1000 2,000 2
33791300 Uwwljju dwquip (o7 hwwn 750 1,500 2
33210000 Uqnujppud T2 untth 2000 30,000 15
33791300 Nbwnphh puuhl wuuljw T2 hwwn 500 50,000 100
Ppnighipngp npwljwijut b
puiwljuljw npnodwh
nhwgtnunpljuljut pun
hwywpwgnt wgynunhtwghwh
nkwlghwgh hwtwp pun Juknkjunt-
33211280 Mwyph (o724 wnntth 15000 30,000 2
Swpw 604, dwipkwqtips,
33191310 pwithwlghl, wnwlggnwih (oF4 hwwn 45.6 13,680 300
Swpw 60 U}, dwupkwqbpd,
33191310 pwthwlbighly, gnwny G2 hwwn 47 4,700 100
33141183 Uwlptwalipd qnun-ludnid GL uwn 60 6,000 100
33141100 Nwuwnkiph onuy (074 (I 200 20,000 100
Cwquiph snp ghnpwinwihl ypuguw ‘
33210000 (1dy) o jupul 5100 51,000 10
33210000 Opuhnwqu phuwn (50 nhuly) T lu 4000 8,000 2
33210000 Lnynphnghti /nhuljtip/ o3 upyuly 1450 1,450 1
33210000 Opthwht /nhulkp/ /Cns/ [e74 9600 9,600 1
33210000 Lhqht /nhuljtip/ /CWB/ T2 8000 8,000 1
33210000 Upghlpl nhultip /Cns/ G2 upyuly 8000 8,000 1
|Udnpupliwy hwhwphnunhly nhultp |82 upyuy 1450 2,500 2
33210000 Puhwytitbu hwluphnunhl nhulbp T2 upyuly 1450 1,450 L,
33210000 Lnpdnpuwght hwljwphnuhy nhultp|cz upyuly 1450 1,450 1
33210000 O%inputught hwlwphnunhl nhuljp |2 upyuwl] 1450 1,450 L
[8hwpndnpuwightt hwljwphnnhl
33210000 nhuljbp T2 upyuly 1450 2,900 2
Unpuhd|nljuwght hwljwphnunhy
33210000 | qy T2 upuy 1450 2,900 2|
33210000 Uaipljught hu 2 |upyul 1450 1,450 1
[ T
! l
33210600 Ghumwihaht awlwrhnnhy ghulkp |82 lunyuly 1450 1,450 1
T
33220000 Snppwihehl hwiwphawhy ghulikp |62 lunduwy 1450 1,450 1
,,,,, s i b o untwl 1450 e 1
" |
________ [y ieicrrma B spnnhl shuliEn T2 1450 1,450] 1}




33210000 Opuwghtht hwlwphnuinhl ghuljkp T2 upyul 1450 1,450 1

33210000 MEUhgh|hl 6 CZ upyul 1450 1,450 1

33210000 ‘5b§mqnm‘u hwljwphnunhly nhulbp [¢24 upyjuly 1450 1,450 1

33210000 Stdnipnpupd hwlwphnuhl nhulkp (T2 upydul 1450 1,450 1

33210000 8tdnybpugnt hwlwphnwhly nhuljtip |52 upyul 1450 1,450 1

i33210000 Stdunwghnhd hwlwphnnhly nhuliip |tz upyuwl 1450 1,450 1,

33210000 Btpunphwpunt hwlwphnnhly nhultp |2 upyuly 1450 1,450 1

33210000 Bhdtiyhd hwlwphnnhly nhultp CZ upyuwl 1450 1,450 1

33210000 Stduwninh hwljuphnnhly nhuljtip G2 upyul 1450 1,450 1

33210000 Uuddnuinbiphght hwlwphnnhly nhuljtip (G2 upyul 1450 1,450 1

33210000 dnphinbwgn| hwlwphnuhl nhulkp (2 upyuly 1450 1,450 1
Yn-nnphunpuwqnihwwphnunhl

33210000 nhuljkp G2 upyquly 1450 1,450 1

33210000 Uhlntwqn) hwlwphawnpl nhulka T m Jwl 1450 1,450 1

33210000 Yinphwdwgny h kp |Gz wly 1450 1,450 1
Pnpuudkuplyng hwjw

33210000 nhuljbp T upyuly 1450 1,450 1
Cuwn Gpwdh ubplkne hwdwp

24221300 hwwpwdnt (4x250) (s wnuy 24800 124,000 5
Chabjw thndhhqugjus

33211000 wnihyuwitbn shand o u 91000 91,000 1
Uwpinubjjw juintipuuyht

33211000 hunwpwsni c2 wnntih 76000 76,000 1
Uwnphwnn A junbpuwihl

33211000 hwwpwsm (e74 nn 76000 76,000 bl
Uwnpkynn B junbipuwjht

33211000 hwwpuwdnt (694 wmnuh 76000 76,000 1

33211000 Zwlpwjht jnun C2 nnL 4000 4,000 1

33691163 Yhudnun-uniydhin wquip T2 l 36800 18,400 0.5

33691163 Ujnilip Zhbiinnt wquip (eF4 Ug 38000 19,000 0.5

33691163 Uwpnipn wqun CZ g 25000 43,500 1.5

33691163 Unnudphw wpyniwghl wqup 694 et 37000 18,500 0.5

33691163 Uwunbtiju Chglijw wqup (24 g 35000 17,500 0.5

33691163 Enowpwpuhb wqup [e74 liq 30000 15,000 0.5
THhdlipllguht wgbnwnwhb wquip G2 lq 40000 20,000 0.5
Uhuntup ghnpuwinwht wqup G2 Ug 42000 21,000 05
Lujunnpul] wqup G2 Lg 40000 20,000 0.5

33691163 Uwlynblky wgup G ['ls 38600 19,300 0.5

33691163 Fhbhnnid wqup G2 liq 40000 20,000 0.5
Upput unbphnipjul dhowJujn

22551165 wkpnp Uhpnopquithqutbph hwidwnp |52 uintth 21000 21,000 1
fbpl{fbulqm]]ﬂl Uhowuyp wkpnpwihli b
ny whpnpwhl dplpnopquthqutikpnh

3288115¢ hwiwp T2 inntih 56000 168,000 3
Unuwjht wqup dwihuny G2 la 17000 51,000 1.5




EMQBIO Yntwdl thnpdwhnp /4njpw/ 250U T2 hwwn 780 3,900 5
[33191310 Ynbwdl hnpdwbnp /Ynjpw/ 100U} GZ hwwn 700 7,000 10
33141143 Ujwphdhlwunnp [e74 hwwn 3.8 36,480 9600
24321440 Rugwhiuppnt /CH3COOH/ hhw c2 [hwp 800 800 it
24411100 Lunnphnudh ghwpwin /Na3C6H507/ |52 lig 1300 1,300 1
33751300 Ouwslwujwlh 24*24 N100 C2 nntth 300 33,000 110
133210000 Utigh pliuwn /N100/ CZ wunuh 5400 216,000 40
!ﬁAS‘JOO ELU Ywpnghy CZ hwwn 145 50,750 350
:“@*11190 Upjwl judph A(2) npnotwl phuwn (o094 upyuly 1000 5,000 5
J
113211200 Upjwb juuph B(3) npnodwl phun T2 upyjuly 1000 5,000 5
[
33211220 Upjwl fudph D(RF) npnodwl phuin (674 unpyuly 2100 10,500 5
i
[33211000 Upjwl fudph AB(4) npnodwl phun |c2 [updw 1200| 6,000 5
J ! :
33211210 RH! n Guwn G2 e AECQI 2
133211230 N 5 -m 7500 35,000 2
33210000 Ui wuln pakl o 5 45000 135,000 3
24311000 20L/C7HE08+20, |z: 5000 10,000 2
24320000 [ 2 300000 15,000 0.05
24311190 : u o e 1000| 4,000 1
33211140 > 5 ju 4800 4,800 1
33211000 Gz nauh 4800 - 19,200 4
Eruwgq|hgk utpp npnouwl phun |
33211180 hwwpuwsnt c2 vintth J 16500 33,000 2
I
Cunhwtnmp vy hwnwlynigh npnadwl ‘ :
33211270 phuwn hwywpwsni/0.5/) G2 -‘;—t:\Lh i 3480 17,400 S5
Cunhwlnip funjbunbipptip npnowl
33211130 phun hunfupwsnt [e74 {nnith 6000 12,000 2
I
Tpnwnpndphliwighte hunkpup npnodwl
33211000 phun hunjwpwsny G2 nnih 7600 121,600 16
I Zufuuwnpbywnnhqh O npnotwl
[33211260 phuwn hwnjupwsny G2 nntih 6200 12,400 2
Vwinphnudp npnotwl phiun
33211000 hwyjwpudnt T2 nntth 17000 68,000 4
r Linphnutipf npnodwl phuwn
133211000 hunjw pwont 4 nntth 8000 40,000 5
C-nbwln ] vwyhwwlnigh npnodwt
33211250 phuwn hwwpwsny C2 nntih 5000 15,000 3
Midunnnhn gnpdntp npnodwt phiuwn
hunjwpwdn: (074 nntth 5000 15,000 3
33211300 Ywighnuih npnodwl phun T2 inntth 5050 10,100 2|
24320000 Urdw |hynuypnpthnutnp Gy nntth 5200 5,200 1.‘
1
Zhtwgpl Hauvbnnwqu G2 wnntth 9750 19,500 2|
33210000 Stat-Fax Jw Uy 1904+ Cz huwn 12500 12,500 1
24320000 Ywhnud Pnudnpuppulul KH2pP04 |52 lig 2500 2,500| ]

2Fmiiitinhin B sy Forinbs siies s o4




33200000 Ugkwnnt /CH3—C(0)—CH3/ [e24 lhwp 990 39,600 40
24321000 Snpdwhl oA lhwnp 400 72,000 180
24321240 Luhin G2 lhwp 1450 14,500 10
§33200000 }U!‘.le[‘.'\{LLI}LL. Jul wwywlh 2th$n NS0 |TZ wnuf 2000 200,000 100
33200000 Owdljwyjwlh 2460 N100 CZ wntth 590 29,500 50
TMnihuwnpng (@4 g 10000 10,000 1
24221100 tnghti 0,5% opuwjhli |nidnyp T [phup 48000 48,000 1
24221100 ZEdwwnwpuphht M (e74 [punp 52800 52,800 1
24451150 Linpwiht b T g 2200 44,000 20
24321400 Uujhpwn 96%1) G thwp 1102 330,600 300
2,2% nhntghin-
dbphpuuntipnudhpinphn, 5% NN- phu-
24451200 nnnlighjwuhl T2 [phwp 7900 158,000 20
24451200 Uuwinkqhu §) (24 thuip 3000 45,000 15
24451200 Unipduwilihnu 3 Cl thwip 7900 158,000 20
|r2~ 51200 2k (622 Lhwp 18000 144,000 8
|asnia0m 250 (5 &2 - % 75| 1,500,000 20000
[
24311128 whwn 250 (5c huwg) 1T a1 20 1,200,000| 60000
|
Chnwutup phuhwljwl bniptp 6,498,920
|
fdojulwl gnpshpltp,
uwppwynpnidlitp b ywpwqubbp
33141147 Uuknltp . o 110, 55000 500
33141147 Uubnbbtp swlnn i R 120 - 60000 500
33141144 Uuk 1ubkph 21G6 cz hwin ‘ﬁ 50 300000 6,000
Upunu uwpph unnnyuljukp :
33141100 3/16", 1.8u Tl huin l 800 32000 40
33191650 Upuiwhuwigniun pdajuljut G2 n | 220 44000 200
33141100 Ubpuwgniy plwwnwlh C 1 11000 33000 3
133141100 Puipuwly (74 | 220 176000 800
:3:‘.—'1‘.:; fPwfuh)36*15 ud T2 hwwn | 515 25750 5,000
33141110 Fhuwn 7714 [e24 hwiwn 84 420000 5,000
32141110 fhuwm ghwul 20*2,7 (74 hwwn 420 2100 5
33141110 fhun UUCSGLUR (24 hwwn 891.91 8919.1 10
23141177 Phpu ubd swihup T2 hwin ; 11000 110000 10
133141177 Fhpu thnpp swithuh [e74 hwwn | 6500 32500 5
18441100 Qluwnly pdoljujut (A hwiwn 10 60000 6,000
33141100 Quniyndbnph uinphuy (24 wnt 5000 30000 6
33141128 Fhdwl) T hwwn 11.77 470800 40,000
Eikyuipnlnwugnijunnph nubwlh
2141100 uwp [¢74 hwwn 2600 130000 50
oAby EUSG wywpunh niwbidhl G huwin 1000 10000 10
Fwtgh$ pujtnepyni 90ud,1000-
o laiei ) 1200, juinnipinit 1ud-28-32 [e74 huwn 66 264000 4,000
Epwostwihtu nhuwlukp [e24 hun 320 12800 40




31651200 rnunp klg-h 21030 (74 hwwn 1100 16500 15
Puwnnipughnt junpnyuly dwiudknny
33141100 N7 (74 hwwn 235 4700 20
Punnipwghnt funpnyuly vwdknny
33141100 N7,5 (¢4 hwwn 235 4700 20
33141136 Ywinbinbp dnih 2 {mnutth 166 CZ hwwn 185 9250 50
33141136 Yuwinbwnbp dnjh 2 {niquih 186G GL hwiwn 185 9250 50
[33141136 Yuwwnkwnnp u/k 20G [o74 hwwn 54 21600 400
33141136 Ywwnbwnp U/k 24G (224 huwin 54 1620 30
33141136 Yuwwnbwunp U/k 22G [e74 ihmm | 54 1620 30
33141136 Ywinbinnp /L 18G CZ ;h;;. n 54 2160 40
33141136 Ywintinp $njh 3 dnuqutth24G [o74 hwwn 203.8 4076 20
33141136 Guinbwunp $nih 3 dnuquith 206 (o4 hwun 203.8 4076 20
33141136 Yuwwnbwnp nih 3 nuquitih 186 Gz hwwn 202 4040 20
33141136 Yuwwnbwp wuuhpughnt N10 T2 huiwn 46.75 935 20
33141136 Ywinbwnp wuyhpughnt N14 G huwn 16.75 935 20
33141136 Ywunbnp wuy nu N12 Gz hwwn 46.75| 935 20
133141111 Yupynn dwwwykl jurinphg 2,575 G2 W l»lSE 145000 1,000
!“:3141158 / pwiin ‘ii_—_—:.~ T2 nwwn 260 52000 200
‘ ?Q': Rl Enai 7 [ \ 89 89000 1,000
‘.2;”,.". [ny 8 GE 1 89 89000 1,000
33141158 2kt 5 cz 89 89000 1,000
33141158 A: g [ hwwn 13.79 965300 70,000
33141159 {2bnlng (674 hww 13.79 5,000
33141159 :i‘i“ n Ephy L (o4 huwn 13.79 965300 70,000
33141159 :::"J gny utnkph| L G2 hwwn 13.79 5,000
33141158 CZ hwwn 13.79 827400 60,000
33141130 {Utgh wbwihgh pwint [o74 hwn 42.99 257940 6,000
33141121 nnlb ptitp N 2 20U T2 thupnyp 2800 5600 2
33141121 |Ywuypnub plijkp N 5 1004 G thwpnyp 2850 14250 5
[33141173 :Ujm;uz hwjuwp wuply 2) T2, hwwn 82 24600 300
Untownniljulip (wkpngny) 12ud CZ hwwn 100 20000 200
‘Lwgnquiuwnpu) qnbin 16Fr (o724 hwwn 79 790 10
33141183 Lwgnquunpuw] qnin 14Fr G2 hwwn 79 790 10
133141183 Luqnguiunpu qnuny 12Fr (624 hwwn 79 790 10
1' Luplngh wyupwnh hndytpu
133141100 funnnjwljutip G2 hwwn 3600 72000 20
‘3314142 Ukpwplhy 10,0 67 A hwwn 20.4 183600 9,000
(33141142 ‘Ukpuplhs 20,0 G2 hwwn 30.4 106400 3,500
33141142 ‘Ukpuiplhy 3,0 74 hwwn 13.9 647045 46,550
33121142 Lkpuwplhy 3,0 c2 hwwn 13.9 3,450
2123147 Lkpuwplhy 5,0 T2 hwwn 12.95 647500 50,000
33141142 | Ukpwiplhs 60,0 (674 hwwn ' 112.2 22440 200
Lkpssynny ;lenulqmumhl{ 'r
3 uutnny wnijhgihynihy N12 |
23141315 N2,0 &2 wnuh | 4800 48000 10
;L""‘t‘* Inn wunpwydunhy !




Lkpasynn wnpwiiwnhl
phEpwutinny ‘ulnthmanhll N12
33141115 (N4,0 ) (o724 nnih 4800 14400 3
33141157 Lownuiph uyny N15 C2 hwwn 500 3000 6
33141157 Lpuwph uwjpkp N15 G2 hwwn 20 2000 100
Cujwnky hwjink, Epljup. 1500, .
133161220 18U, ny untphy [ot4 hwwn 4.3 21500 5,000
£
Qubipdsinn wnpwdwwnhl
plijip yupnny wubinndunihghynghy )
33141115 N12(NO ) (o34 nintth 4800 24000 5
Qutipdsaynn winpunjdwwnpl
phitEp yunpny wubnnunihgihynghy
33141115 N12 (1N ) (24 wnniih 4800 24000 5
Qubipddnn wwnpwdwnhly
pEEp inpnn wubnnunihgihynihy )
33141115 N12 (N 2,0 ) G2 wnntih 4800 24000 5
33141182 Tlpw| nplitiwd 18CH [o74 hwwn 3000 30000 10
33141182 Mlipw) nplitiwd 20CH T2 hwwn 3000 30000 10
133141182 Mlupw) npblwd unhjknm] 28CH 6L huin 3500 175000 50
Mbpwnptbwd unhbinny
33141182 nkqbpyniwup T2 hwwn 4000 40000 10
38411200 Qtrwly 2| Unuphtwgdus T2 hwun 780 15600 20
38411200 Qbpuwswith [ hwin 250 62500 250
32351230 rELnghl duwnygu bl MXG 18x24 [ 100.6 301800 3,000
32351230 Phlingbb dwwwykl MXG 24x30 ok n 168 840000 5,000
32351230 PElngtl N i 279.5 1118000 4,000
32351230 thuwngtil u C W 286 1144000 4,000
i
i‘ .
24931500 [thuwng uwn( cpbwuhs) 2x20 |T2 hin 32500 195000 6
24931600 n{ wipw 2x20 o= huits 16500 99000 6
- |
24931600 ] = ha 1 150 15000 100
39511130 Uwyuwl quiliuthuipbpny 58ud X 50U [T 0 1955 11730 6
Uwyuwl dht uljw ogunwgnpduwl |
39511130 58x30 G2 hwtn | 110 66000 600
33141160 Unlingk| 260,0 o33 hwa | 244 24400 100
33191310 dwnudwyht hnndwling hbjny CL hw 50 300000 6,000
33191310 dwlnidughb hnndwting G2 hwwn 49 98000 2,000
33751100 Swlnpp ubswhwuwlubph hwdwn 2 hwwn 363 1089000 3,000
33121310 Nnndtinp CZ hwwn 10000 10000 1
33121180 Snunutinp CZ hwwn 3585 17975 5
33141178 Pnjuubipwpliwl hwdwlupg [o74 hwwn 47.4 474000 10,000
Onputiipwpldwt hwdwlupg ‘
33141178 /Unpnunp/ T2 hwn 66.79 16697.5 250
‘ Pt pdoljwlju
uwppwynpnidbip, gnpshplbp b
yuwpwqutip 13999670.8
Ublnuniptpp
15612180 Fwpdp nbuwlh gnpbh wynip C2 4% 350 230
15872400 Un o Hq 160 80C
03221100 Fugniy CZ 4G 250 100,000 400




15119610 Qnily pupd [e74 LG 2300 4,140,000 1,800
03221115 Lnph hwwnplpnp (674 Y% 1000 120,000 120
15511600 Ywp unwgpud (672 4G 1200 1,200,000 1,000
E322;410 Yunuidp T2 4G 100 400,000 4,000
15530000 Yuwpwq ubipnigpwhl (e74 4G 2600 6,240,000 2,400
é 15311900 Yuwpunndhy T 4GS | 220 1,100,000 5,000
;‘_ESAOOOO Mwlhp Lnnh A (Ufel ; 2300 2,760,000 1,200
15811100 Zwggnplitih T2 4G | 258 6,708,000 26,000
15421100 Upliwswnlih dtip, nwhhiwgus T2 thunp 800 SO0,000 1,000
03142510 Q0,1 fupg C2 hwn 65 975,000 15,000
15851100 Uwluwpnulinku T2 4G 450 900,000 2,000
15111110 Swywph thu, nknuljwb o ya 2400 36,000,000 15,000
15831000 Cwpwpuijuq (o 4S 350 840,000 2,400
15331154 N, widpnnewjul o2 4q 550| 137,500 250
15331153 Nuy cz T‘«Q 700| 140,000 200
15331139 Ly s |uq 200| 40,000 200
15331168 Uupniy G- 4G 453‘ 45,000 300
15331170 MNnuybin pup [ 4G 250 25,000 100
15331161 Unju, ginifu ot “= 230 207,000 900
15623200 Uy hinwjudwjwnp G S 380 570,000 1,500
15333100 Snuwinh uwontl c LS 800 320,000 400
15617000 8npklwawup [ G 00| 400,000 1,000
03221124 Jwpniig pupu o 4G 200 20,000 100
15510000 Bpluukp e LS 1000 1,000,000 1,000
15551600 Uwdnil Gz “ 500 3,275,000 6,550
15619000 Zwawpudwywp G - 700 385,000 550
15616000 Zunlpwdwup (o4 “3 800 624,000 780
15871256 Mnutn wnugus Jupuhp cZ 4G 7000 28,000 4
15871256 Nnujkn wnugws ub [oh 43 6000 24,000 4
15872310 Twthub mbipl c2 4SS 5000 15,000 3
15331167 Ywlwsh juwnp G2 Yww 160 16,000 100
03222113 Quidhy . 4G 1200 6,000 5
5863200 [Cla] G |4S 6700 46,900 i
03142100 Utinp [eP4 g 3200 960,000 300
Ehr}mlﬂ..hp_‘ ubinuupbipp 71,767,900
Zwlnkpdwhp |
1
39511140 Utynntw)hl uyhunwlinkl c2 hwiwpwant | 7000 350,000 50
139510000 Lkpplbwl| GZ hwiwn 1. 8000 400,000 50
38311150 ‘Lbppuwljh bpku G2 hwwn | 3000 150,000 50
39516122 Fupd GZ uwn 6000 300,000 50
35514500 Gpkuupphs &z o 500 25,000 50
3514100 Lnquipwh upphs wes l 2200 44,000 20
ESe ety tpplwggbun /Juiiugh/ @4 hwun 1000 20,000 20
oz ok b s Ubknpplwggbuwn /mnudwupnny/ T2 1000 20,000 20
<<<<<<<< i‘{LLLP‘»H]'IP/HlLI‘Uulg]\/ Gl hwn 2000 40,000 20
I (—’ o i — L EAAA " e




18811180 Znqupuwipkp (674 qnug 1200 24,000 20
19212600 Owslng, pudpwljw G2 hwwn 4000 80,000 20
38511100 79 6000 120,000 20
18811230 [ gnua 10000 200,000 20
18811210 Gz qnug 9900 29,700 3
18410000 E‘R;.";‘.:b"_:; huwl wnnwhwgnuun Gz Unuy. 15000 150,000 10
iCqudbhp‘ hwlinbtpdwlp 1,999,900
‘f}pmubh;ml{m]bh yjhuinypubp b
qpwukbjwlw)hl Uynipkp
39263200 Qhpp QnUUGGJWYWRG 70-100 |52 hwwn 1000 200,000] 200
30197622 @ninp obdutip A4 /500hwwn winup/  |T2 hwwn 1800 540,000 300
22851100 On puwiywiwy (73 hwn 300 60,000 200
Btpl L ptirtwuwnwn
: wywnndtiptGwbtph nintigptiph )
|22821000 rANEhY c2 hwwn 20 20,000 1,000
Dy (74 hwn 10 60,000 6,000
|anhs Ywuwniyw (¢4 hwwn 100 20,000 200
|Snhs Lwpdpn c2 hwn 100 10,000 100
{9nhs uL 74 hwwn 100 10,000 100
iUwuinpunltbn Gz hwwn 100 10,000 100
2wln G2 hwwn 100 1,000 10
30192100 Lunhlltn G hwwn 50 2,500 50
30192710 |Unuhtd G2 hwwn 200 4,000 20
30192160 Cuphiu (o4 hwun 200 10,000 50
30197221 Udpwy dnen G2 un 170 8,500 50
30197121 iunéq-wi T2 ntth 100 1,000 10
30141210 | <wpdhs buibnguwinnn 52 . 6000 130,000 5
30197320 Juwphs. 8p0sk 20 gEnEh hwdwp o u 1200 $2,000 10
30192133 Unh; dwwnpunn &2 n 20 200 10
30197332 “wlhg/npwlng o hwin 1000 5,000 5
30199430 pnung Gpnudbtinh, tnpgwytinny (53 1000 19,000 19
pnunge Gpnidatiph huwiduwip.,
13 1199420 unutdqwopny o 200 2,000 10
22600000 Futiwp GZ 250 5,000 20
39241140 Qwlwy, gpuwubijuyuihb, dtnwnjw T2 huwwn 50 250 5
30197110 Utnuwly, uks C2 nntth 200 14,000 70
30197112 Ulinuwly, (inpp g wnnuh 200 20,000 100
30192230 Uljna [e74 hwwn 200 10,000 50
20152780 Eowbowl gniiwynp CZ hwwn 250 25,000 100
Cunuuklp’ gpbliufwl whnnypllp
b qpuubbjwlwihb bympbp 1,099,450
dwnbhp
S 32200 l_?t‘uahh nkgnijup T2 thwp 390 2,999,100 7,690
zi:Z ‘?‘_',th‘u nkgnijjup G2 thwp 390 1,310
plnu ULtp phughl nkignijjunp 2,999,100
SS9 OO Uknuyjws puwjul qug (694 u/h 200 2,000,000 10,000




Sunbkuwlwh, umbhhgkuhy b pjugph

Uhgnglbip
33761000 @nun qniquipwip T2 hwiwn 75 157,500 2,100
44511110 Fuwh, hwynk ppiulyny, unip G huwn 1350 13,500 10
i«ui 11120 Qnquphuwl, dnil dwppbnt G hunn y 3800 22,800 6
4451 Munnnw juhwl, unynpufut o2 hwwn 500 2,500 5
| Nunwnuljpwhwl, dhwdnp T2 hwun 500 2,500 5
i: 4521170 Unnulip, ultis [e74 hwwn l‘ 2500 25,000 10
1 Uunhdwl 2 hnuth 2 dkwnp ‘
44423240 pwpdpnipjuip c2 hwiin [ 18000 18,000 1
19641000 N/Ephitbwght punuip (674 i 190 5,’76() 30

Mnphkphitbwht ywpl ulgnyh 301
19641000 LJuwlptpny C2 hwn 30 288,000 9,600

MnihLphibbwiht wupl fupdhp
19641000 qnutih 30] Qwlptipny Tz hwiwn 90 765,000 8,500
39831272 Uynibig widwl putiugne G2 hwwn 50 25,000 500
44531100 Tnuy b yunnunwjuidtjuny 8-100d |T2 winii 1000 6,000 6
44531100 Tnuw ki), yununwlng (o724 nni 1000 4,000 4
42131120 Qph hwjwi UKYn T2 hwwn 1250 50,000 40
39711330 i ne G2 hwwn 70 42,000 600
31661100 kibywnpnn 3 o2 g 3900 117,000 30
09411200 quq/$pknu h.22/ |T2 pwnl 60000 60,000 1
31531850 9] (674 hwwn 1150 23,000 20
38411200 n CZ 250 750 3
31681640 Uwwhnuhs 100 U Ti 0 | 6500 117,000 18
31681651 1y 250 1 Ci h 2700 270,000 10
31681670 Uuwjwhn (oS 3 5',0‘:‘"‘2 348,000 6
44322230 U juz 2X 4u [ 17C§ 47,000 100
44411516 Puljwt ppnliqt 2Cuu o 30 IBQOT 13,000 10
44163130 Tunnnyly 10044/054 o . 730 . 14,600 20
44163130 funnnywy 100u/1d (g n 980 19,600 20
44163130 funnniw ] 100u/24 vi; u l 1850 18,500 10
44163130 funnndw ) S0uT/14 [2 ' 730 14,600 20
44163000 funniuwf wpwaquijwl 60ud c: L 590 12,980 22
44163001 funnnyuly wnwdquijut 90uld (o4 hwn I 740 5,920 8
44831300 Uhihynt T2 hwwn 850 17,000 20
44163290 Uh$dnl gnpliny T2 hwun 480 9,600 20
42131470 Onpuljh dhoniy G2 hwn ; 490 19,600 40
44411110 Ljwgupwbhophsnpwl 2 hwhwiny T2 hwiwn | 5000 100,000 20

Ljwgupwp oph snpuly nhuwyhu 2 ;
44411110 nkn G hwwn E 2700 54,000 20
144921200 Utlniups dwuikl CZ hwwn 110 11,000 100
44411800 Sniqupwlwlnbp CZ hwn 33000 132,000 4
35831245 2hnnily dbnpltip pwliwne 25011 T2 thwp 300 90,000 300
12221130 %Qtl‘.‘unq putidnpwljub unpk [erd qniq 150 60,000 400
tIziil £ OZwp wbunbuwljwli/150q CZ hwwn 110 5,500 50

: JZwn Aknph /100q GZ hwun 130 51,000 700
=i v wpauindwuk 51 Juthwphsny T2 hwwn 650 13,000 20
Fwu wwundwub 10 juwthwphsny (G2 hwwn 950 19,000 20




39224331 Yoy wuundwuk 601 T2 hwwn 2100 21,000 10
Udwl wpuundwut wnuitinh 5,0
39220000 Yuwihwphsny (674 hwn 150 2,250 15
39220000 2uig funpknt nwjunwy G hwn 950 14,250 15
39221110 Zwgudwl uuphsny UES [6rd hwn 2500 25,000 10
39221130 Quijwp wpuunuwub 1 T\CS. [hwin 300 6,000 20
39224330 Any| bdwk Juihwiphsny 10 éC_ hwwn 7500 150,000 20
39713510 Upnnil, glipdwlwnguynphs, gninphnyg |22 |hwn 6500 26,000 4
|
39711230 Eikjupujut plijuhl G2 {hw 8000 32,000 4
39224340 Unpwpwip hp nquitiwny (24 |hwwn 1300 26,000 20
39220000 Udwl ypwuwndwub 3y, Ywihwphsny 182 [hwwn 900 18,000 20
39221420 unquiiwj hwwnwlh GZ I n 1200 12,000 10
44511240 Zwppuwonipp G2 | 1100 4,400 4
44510000 Lklnpwiljwt Yuphy Gl : """ n 35000 70,000 2
44511210 Qlinph unngh olinp (674 hwu 150 6,000 40
44411300 Ljwgwpul CZ i 18000 72,000 4
39220000 Yuwpuw b 5 C. {h 5300 79,500 15
39722400 Lruwhly 2 ntnuling/thwuly/ Cx 4 W 7000 105,000 15
39722400 Eluwphy 1nbnulng/thwl/ (094 ‘ u 5000 30,000 6
42921190 Uolinp pnidlinh (€74 n 20000 100,000 5
funinhtd hy Ubkptliw, phughting

16311400 wojuwnnn T2 W 100000 100,000 1
39716100 6308-22 CX wnwligpuw juyy (ol hwin 6000 6,000 1
39716100 6309-2Z CX wnwlgpwljw] |&: 6000 6,000 1
44161230 Uliimitiwly 7004 o 1200 12,000 10
44161230 Ullyniiy $100 o h 700 14,000 20
44161230 Ullnitiwl) $-50 %C_ 300 6,000 20
144161230 Ulignud .05nniju py (Fen 800 16,000 20
44161230 Ulignuu -3/4 ppnligt G hwwn 1500 30,000 20
“nwl thw i(_xx]'L||1”')-;?LL.‘L: thuljulh dhony T. ;A 1 1200 36,000 30
31683100 Erwpwnjuhy 50/50/50 (A wn 500 20,000 40
31683100 Lrwpuo|uhy100/100/100 (e74 hwwn 1100 22,000 20
44411710 Qniqupwtwlnbph uihwphy C2 hwwn 2500 25,000 10
44161230 U/wjpuuinb wignud 1 (674 hwwn 3000 60,000 20
44161230 U/uyjjuunt knwpwiohuhy 1/2 (a4 hwwn 1400 14,000 10
44163340 U/wjuunb hgwdwiu 1/2 G2 hwwn 800 16,000 20
44411110 U/yuunt oph thwjuli 1/2 G hwn 1500 15,000 10
44510000 Eitunpwljub quihynt T2 hwwn 23000 69,000 3
139716100 Bt unpulwl Guphsh pup uks (o4 hwwn 1000 30,000 30
38421180 dwlnubwp 10 URL. Tz hwwn 3000 6,000 2
35716100 Uuwnugh nqubiwl G hwwn 6000 12,000 2
121511280 Utindwly 2.2 T2 wnif 1000 9,000 S

24411100 Qph snpwl tipywbnulng, gugninny T2 hwwn 10000 100,000 1C‘i
=

32835000 Uk npuh 52 hwwn 800 64,000 80|

rem——




42131470 Lwpnhe dSnpwlh,Epbp ppntiqh T2 hwwn 1000 20,000 20
1
3 Cunquukip winbuwlwl
uwlhhqtuhy b jjjugph vhengllip 4,999,950
uchiusuueuitr
Syuqpnipynil
22821000 Shpp N 3 o7 hwwn 2000 200,000 100
22821000 Qhpp N 6 T2 hwuwn 2000 200,000 100
| 22821000 Ghpp wwhwbowghp/wyjwg pnidppng |T2 hwwn 2000 60,000 30
22821000 Qhpp nlinunbitipnud (o724 hwun 2000 50,000 5
22821000 Cuwy hwnnpnnud db 058 [o74 hwwn 7 7,000 1,000
22821000 Nbnbiqhp ywpnhhunninghwjul T2 hwwn l 5 100 20
l
22821000 Nbnbighp ntktngbb,unungpudhw,wyy |52 hwwn ] 5 60,000 12,000
Nhntghp Yihuhjulut ‘
22821000 jupnpunnphugh [o74 hwwn ‘ 5 75,000 15,000
| Nbnbghp phophdhuywl
122821000 jupnpumnphup G hwwn 5 50,000 10,000
Poowpwliuljwl hbwwgninnepjul
|22821000 nuntighp TZ hwwn 5 1,000 200
(22821000 TNwindnipjwl Ptpphl 6 plipp T2 hwwn 100 300,000 3,000
22821000 Pdojwljul whljhinw 6 phipp 100 300,000 3,000
22821000 Ppwgbljuiwl phpphl [e2A hwwn 5 15,000 3,000
‘
22821000 Ewhlphq (o7A ‘ 5 45,000 9,000
22821000 Upjub wlwihq (674 : 3 19,500 6,500
22821000 Opwp ntungll G2 huwn 150 37,500 250
22821000 Ukgh wbwjhgh ywwnwuhiwb .  |hwu n 5 40,000 8,000
Snip.wpnpuiy AL 05- | |
22821000 06 |C2 un ‘ 5 65,000 13,000
22821000 ' g B 5 50,000 10,000
22821000 Zwinnpinid N 1805 C h 8 400 50
22821000 Swowpulih wwhwboewghp [oftd hwwn 5 6,500 1,300
22821000 Swowguwtlh ywhwbpwghp cZ hwwn 5 2,500 500
22821000 Lowbwdwlb plipphy T2 hwwn 4 60,000 15,000
| 22821000 cuwy qubsh ptipphy T hwwn 5 15,000 3,000
[22821000 Nwhbuwnh ghpp 100 ke G2 hwwn 2000 40,000 20
‘ Lunwukip’ wiywgpnip)ni 1,699,500
45461100 Cupwghply Yipuwunpngnid I npwitd 1550000 1,550,000 1
ounusNkrE3NPLLER
165311100 L Ejupwkilipghw PLRUZ npwd 29800000 29,800,000 1
165211100 fiwlul quq rOUZ npu 30908000/  30,908,000] 1
Cughwinip oqunugnpadwl b ‘
owpdwlwb hinwpinuwgulgkph
£4211100 swpw)nipjntl N 3CCC0C 300,C00 1
Onnquud, fudkjnt, gl
SSiang wpmnibwpbpuy cals puty 12105020 12,100,000 1
50133530 Ujununbiuywwplnid e s 250000 250,000 i
uh |
728106 o |npw 1200000 1,200,000/ 1
|
|




98310000 Lijwgph dwpwjnipjntl Cl [¥e} 218 24,000
Zpwinwinguhl wy) Swhiukp
fdoluljul puthnubtph

190521320 wtnuihnjunpub Swnwnipni FCUZ npwu 900000 900,000 1

=

|

i Zundwljupgswihb nbuihjuywb

[50311120 uywuwplnud PLUZ npwu 267000 267,000 1

|

0671100 Anwinhqughw lecus wil 600000 600,000 1
qbpbwyetph yepwbnpngiwl b |

50751100 wwhywidwh swpwjnipniGitin |PCUL n 600000 600,000 1

65000000 Unpwhwbnipjul dwownipnil C rad 2000000 2,000,000 1
ﬂbr}\.udhhp_‘ Swnwjnipjniblbp i 79,125,000




